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45 2159 do] | 45+ A&
(1) 21.98 cm 7cm
(2) 37.68 cm 12cm
(3)31.4cm 10 cm
(4) 12.56 cm 4cm
(5) 18.84 cm 6 cm
@ 3.141 @ 3.1416 ® 3.142

@®)3.14 ® 3.1

21.98 + 7, 37.68 + 12, 31.4 + 10,
12,56 + 4, 18.84 + 6
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@78.5(:1112 @ 62.8cm? ® 60.24cm?

@ 58.16cm? ® 50.24cm?

9] 4ol : 10+ 2 = 5(cm)
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Ho] 1 5x5x3.14 = 78.5(cm?)
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® A& 4cm

@ A& 2.5cm

® A& 6cm

@ A& 2.3cm

® A& 12.56 + 3.14 = 4(cm)
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D 1m @ 5m @ 7.85m
@15.7m ® 314m

2P E 5 2Reng, 294 59 Zolo 5 w7t Hyrt
w2hA 1x3.14 x5 = 15.7(m) Ytk
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@ 10cm @ 15cm ® 20cm @ 25cm @300m

(29 E4)) = 2x(¥9] HFA ) x3.14
188.4 = 2x (¥9] ¥kA]E5)x3.14
kAl o] 9] 52 188.4 + 3.14 + 2 = 30( cm) YU Tt
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O Y371 12.56 cmSl Y @ HrA]E©°] 1.75cm?l ¥
® Hol7k 12,56 cm? 1 & @ 9F7H15.7cm 9 9

@5}0]7} 28.26cm? ¢l &
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D ox2x3.14=1256,0=2cm

@ BtAE 1.75cm

@ oxox3.14 =12.56,0=2cm
@nox2x314=157,0=25cm
®ox0oOx3.14 =28.26,0=3cm
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AXAX3.14 =785
AXA="785=+3.14

AXA=25

A =5(cm)

(A59] Zol)=5x2=10(cm)
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